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MAJOR TEST

PRE-MEDICAL : LEADER COURSE (MLT, MLU, MLV,MLA)

Your Target is to secure Good Rank in Pre-Medical 2013

1. A nonmonochromatic light is used in an
experiment on photoelectric effect. The
stopping potential : -
(1) is related to the mean wavelength
(2) is related to the longest wavelength
(3) is releated to the shortest wavelength
(4) is not releated to the wavelength

2. A Zener diode, having breakdown voltage to

15V, is used in a voltage regulator circuit shown

in figure. The current through the diode is :-
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20V 15V 1K

250

(1) 20 mA (2) 5 mA (3) 10 mA (4) 15 mA

3. Binding energy  per  nucleon versus  mass
number curve for nuclei is shown in figure
W, X, Y and Z are four nuclei indicated on
the curve.  The process that would release
energy is : -
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(1) Y  2Z (2) W  X + Z
(3) W  2Y (4) X  Y + Z

4. In a reverse biased diode when the applied
voltage changes by 1V, the current is found
to change by 0.5 µA. The reverse bias
resistance of the diode is :-
(1) 2 × 106  (2) 2 × 105 
(3) 200  (4) 2 

5. The minimum energy to ionize an atom is the

energy required to : -

(1) Add one electron to the atom

(2) Excite the atom from its ground state to its

first excited state

(3) remove one outer most electron from the atom

(4) remove one innermost electron from the atom

1. 
    : -

(1) 
(2)  
(3)  
(4)   

2.   
  15V   

  :-

+

–

20V 15V 1K

250

(1) 20 mA (2) 5 mA (3) 10 mA (4) 15 mA

3. 

W, X, Y  Z 
   : -
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(1) Y  2Z (2) W  X + Z

(3) W  2Y (4) X  Y + Z

4. 1V 
0.5 µA 
 :-
(1) 2 × 106  (2) 2 × 105 
(3) 200  (4) 2 

5. :-
(1) 


(2)  


(3) 


(4) 
 

BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS

      
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6. GaAs (= 1.5 eV), LED 
   :-

(1)   (2)  
(3)   (4)  

7. 
- -
   : -

(1)   
    

(2) 
 

(3)      
(4) 
 

8. P Q 
P Q 
      :-

(1) P Q  
(2) P, N-Q, P-


(3) P  Q  
(4) P  Q  

9. 1876 MeV

   939 MeV   
940 MeV 
   : -

(1) 2MeV -
(2) 2MeV -
(3) 3MeV -
(4) 3MeV -

10. 300K   Si        
n

e
 = n

h
 = 1.5 × 1016m–3 

n
h 
4.5 × 1022m–3 n

e
 

 :-
(1) 5 × 1010 m–3 (2) 5 × 109 m–3

(3) 1010 m–3 (4) 3 × 109 m–3

11. 5 × 10–4 Å 


0.511 MeV 


 : -

(1) 1.2 MeV (2) 12 MeV

(3) 120 MeV (4) 1200 MeV

6. GaAs (with a bond gap = 1.5 eV) as an LED

can emitt :-

(1) Blue light (2) Green light

(3) Ultraviolet rays (4) Infrared rays

7. The fission of a heavy nucleus gives, in

general, two smaller nuclei, two or three

neutrons, some -particles and -radiation. It

is always true that the nuclei produced : -

(1) Have a total rest-mass that is greater than

that of the original nucleus

(2) Have large kinetic energies that carry off

the greater part of the energy released

(3) Travel in exactly opposite directions

(4) Have neutron to proton ratios that are too

low for stability

8. Wire P and Q the same resistance at ordinary

temperature. When heated, resistance of P

increases and that of Q decreases. We conclude

that :-

(1) P and Q are conductors of different materials

(2) P is N-type semiconductor and Q is P-type

semiconductor

(3) P is semiconductor and Q is insulator

(4) P is conductor and Q is semiconductor

9. The rest mass of a deuteron is equivalent to

an energy of 1876 MeV, that of a proton to

939 MeV and that of a neutron to 940 MeV.

A deuteron may disintegrate to a proton and

a neutron if it : -

(1) Emits an -ray photon of energy 2MeV

(2) Captures an -ray photon of energy 2MeV

(3) Emits an -ray photon of energy 3MeV

(4) Captures an -ray photon of energy 3MeV
10. Pure Si at 300K has equal electron and hole

concentration of 1.5 × 1016m–3. Doping in
indium increases n

h 
to 4.5 × 1022m–3. Calculate

n
e
 is in the dopped Si :-

(1) 5 × 1010 m–3 (2) 5 × 109 m–3

(3) 1010 m–3 (4) 3 × 109 m–3

11. A 5 × 10–4 Å photon produces an electron

positron pair in the vincinity of a heavy nucleus.

Rest energy of electron is 0.511 MeV. If they

have the same kinetic energies, the energy of

each particle is nearly : -

(1) 1.2 MeV (2) 12 MeV

(3) 120 MeV (4) 1200 MeV
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12.  
(1)        


(2) 
      

(3) 

 

(4) 
 

13.     W  
                    
           :  -

(1)  > 
hc

W
(2)  = 

hc

W

(3)  < 
hc

W
(4)   

hc

W

14.       
 :-

Y

B

A

(1) A B Y

0 0 0

0 1 1

1 0 1

1 1 1

(2) A B Y

0 0 1

0 1 0

1 0 0

1 1 1

(3) A B Y

0 0 1

0 1 0

1 0 1

1 1 0

(4) A B Y

0 0 0

0 1 1

1 0 1

1 1 0

15.   N
1
   N

2
, 

  
  : -(in S–1)

(1) 
1

2

N

N (2) 
2

1

N

N

(3) N
1
 n(2) (4) N

2
 n(2)

12. Select incorrect statement :

(1) In an oscillator, the feedback is in the same
phase (positive feedback).

(2) When the transistor is used in the cut off
or saturation state, it acts as a switch.

(3) For a transistor amplifier, the voltage gain
is low at high and low frequencies and high

and constant at mid frequencies.
(4) For transistor action both the emitter

junction as well as the collector junction
are forward biased.

13. The work function of a metal is W and  is

the wavelength of the incident radiation there

is no emission of photoelectrons when : -

(1)  > 
hc

W
(2)  = 

hc

W

(3)  < 
hc

W
(4)   

hc

W

14. Which of the following represents correctly the the

touth-table of configuration of gates shown here:-

Y

B

A

(1) A B Y

0 0 0

0 1 1

1 0 1

1 1 1

(2) A B Y

0 0 1

0 1 0

1 0 0

1 1 1

(3) A B Y

0 0 1

0 1 0

1 0 1

1 1 0

(4) A B Y

0 0 0

0 1 1

1 0 1

1 1 0

15. N
1
 atoms of a radio active element emit N

2
 beta

particles per second. The decay constant of the

element is (in S–1)

(1) 
1

2

N

N (2) 
2

1

N

N

(3) N
1
 n(2) (4) N

2
 n(2)
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16. The combination of Gates shown represents :-

B

A Y

(1) OR Gate (2) AND Gate

(3) NOR Gate (4) NAND Gate

17. A nucleus with atomic number z and neutron
number N undergoes two decay processes. The
result is a nucleus with atomic number z-3 and
neutron number N-1. Which decay processes
took place?

(1) Two – decays

(2) Two + decays

(3) An -decay and a – decay

(4) An -decay and a + decay

18. In the circuit below, A and B represent two  inputs
and C represents the output. The circuit represents

A

B
C

(1) NOR gate (2) AND gate

(3) NAND gate (4) OR gate

19. The graph between the stopping potential for
a material and the frequency of incident light
is a :-

(1) Parabola

(2) Ellipse

(3) Straight line passing through origin

(4) Straight line which is not passing through
the origin

20. In young's double slit experiment the intensity
on the screen at a point where path difference
is  is K. what will be the intensity at the point
where path difference is /4.

(1) K/4 (2) K/2 (3) K (4) Zero

21. The rate of disintegration of a radioactive
material is directly proportional to : -

(1) The mass of material

(2) Remaining mass of the radioactive element
in the material

(3) Ratio of radioactive element present in
material

(4) None of the above

16.     :-

B

A Y

(1) OR Gate (2) AND Gate

(3) NOR Gate (4) NAND Gate

17. z N

 z-3  N-1 


(1)  – 

(2)  + 

(3) -   – 

(4)  -  + 

18. ABC 


A

B
C

(1) NOR  (2) AND 

(3) NAND  (4) OR 

19. 

   : -

(1) 

(2) 

(3)    

(4)     

20. 
 K /4



(1) K/4 (2) K/2 (3) K (4) 

21. : -

(1) 

(2)  

(3) 

(4) 

   Key Filling      
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22. When we clap our hands, the sound produced

is best described by

(1) P = P
0
sin(kx – t)

(2) P = P
0
sin kx cost

(3) P = P0cos kx sint

(4) P = P0n
sin (k

n
x – 

n
t)

23. In nuclear reactions : -

(1) Mass and momentum both are conserved

(2) Energy and momentum both are conserved

(3) Charge and momentum both are conserved

(4) Energy and charge both are conserved

24. The graph showing the dependence of intensity

of transmitted light on the angle between

polariser and analyser is (I0
 is an intensity of

an unpolarised light) :-

(1) 

I0

O 45º 90º 135º 180º

I



(2)

I0

O 45º 90º 135º 180º

I



(3) 

I0

O 45º 90º 135º 180º

I



(4) 

I0

O 45º 90º 135º 180º

I



25. The potential energy of a particle of mass m

is given by

U(x) = 
0E 0 x 1

0 x 1

 





1
 and 

2
 are the de-Broglie wavelengths of

the particle, when 0  x  1 and x > 1
respectively. If the total energy of particle is

2E
0
, the ratio 

1

2



  will be :-

(1) 2 (2) 1 (3) 2 (4) 
1

2

26. Wave front of a wave has direction with wave

motion : -

(1) Parallel

(2) Perpendicular

(3) Opposite

(4) At an angle of 

22. 


(1) P = P0sin(kx – t)

(2) P = P0
sin kx cost

(3) P = P
0
cos kx sint

(4) P = P0nsin (knx – nt)

23.   : -

(1)     
(2)     
(3)    
(4)  

24. 



(I
0
 ) :-

(1) 

I0

O 45º 90º 135º 180º

I



(2)

I0

O 45º 90º 135º 180º

I



(3) 

I0

O 45º 90º 135º 180º

I



(4) 

I0

O 45º 90º 135º 180º

I



25. m  

U(x) = 
0E 0 x 1

0 x 1

 




0 x  1 x > 1


1 
 

2
 2E

0 


1

2



   

(1) 2 (2) 1 (3) 2 (4) 
1

2

26.  : -

(1) 

(2) 

(3) 

(4) 
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27. Photon and electron are given same energy. The

wavelength associated with it are 
p
 and 

e

respectively. Then which statement is true : -

(1) 
p
 > 

e
(2) 

p
 < 

e

(3) 
p
 = 

e
(4) 

e

p



  = c

28. The ratio of intensities of two waves is 9 : 1.

They are producing interference. The ratio of

maximum and minimum intensities will be : -

(1) 10 : 8 (2) 9 : 1 (3) 4 : 1 (4) 2 : 1

29. Consider the situation shown  

V

B

A

× × × ×

× × × ×

× × × ×

× × × ×

×
×

×
×in the figure. The wire AB

is sliding on the fixed rails
with a constant velocity. If
the wire AB is replaced by
semicircular wire, the
magnitude of the induced
current will : -
(1) Increase
(2) Remain the same
(3) Decrease
(4) Increase or decrease depending on whether

the semicircle bulge is towards the
resistance or away from it

30. Radius of face A is 25 cm and radius of face

B is 24 cm then focal length of the lens is :-

µ  = 1.82

µ  = 1.51

A B

(1) 
75

4
cm (2) 75 cm (3) 50 cm (4) 30 cm

31. The north and south poles of two identical

magnets approach a coil, containing a

condenser, with equal speeds from opposite

sides. Then : -

S N

Observer

S N

Front side

v

1

2 v

Rear side

(1) Plate 1 will be negative and plate 2 positive

(2) Plate 1 will be positive and plate 2 negative

(3) Both the plates will be positive

(4) Both the plates will be negative

27.    
  

p
  

e
    

 : -
(1) 

p
 > 

e
(2) 

p
 < 

e

(3) 
p
 = 

e
(4) 

e

p



  = c

28.  9 : 1 

 : -
(1) 10 : 8 (2) 9 : 1 (3) 4 : 1 (4) 2 : 1

29.  

V

B

A

× × × ×

× × × ×

× × × ×

× × × ×

×
×

×
×AB 



    AB 



:-

(1) 

(2) 

(3) 
(4) 


30. A  25 B  
24  :-

µ  = 1.82

µ  = 1.51

A B

(1) 
75

4
cm (2) 75 cm (3) 50 cm (4) 30 cm

31. 



 : -

S N

izs{kd

S N

ckgjh fljk

v

1

2 v

vkarfjd fljk

(1)  1  2 

(2)  1  2 

(3) 

(4) 
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32. Two beams of red and violet colours are made
to pass separately through a prism (A = 60º).
In the position of minimum deviation the angle
of refraction will be :-
(1) 30º for both colours
(2) greater for violet
(3) greater for red
(4) None

33. A conducting rod of length 2 is rotating with
constant angular speed  about its
perpendicular bisector. A uniform magnetic

field B


 exists parallel to the axis of rotation.
The e.m.f. induced between two ends of the rod
is : -
(1) B2

(2) 
1

2
B2

B

(3) 
1

8
B2

(4) Zero

34. Prism is placed on horizontal surface. Ray  PQ

is incident, for minimum deviation:-

SR
Q

P

(1) PQ is horizontal

(2) RS is horizontal

(3) QR is horizontal

(4) RS and QR are horizontal

35. The ratio of secondary to the primary turns in

a transformer is 3 : 2. If the power output at

secondary is P, then the input power at primary,

neglecting all losses must be equal to : -

(1) 5P (2) 1.5P (3) P (4) 
2

5
P

36. If reflected and refracted ray are perpendicular

to each other then :-

60º

(1) 
1

3
(2) 

1

2
(3) 2 (4) 3

32. (A = 60º)


:-
(1)   30º

(2) 
(3) 
(4) 

33.           2      
  
  

 B


        
  : -
(1) B2

(2) 
1

2
B2

B

(3) 
1

8
B2

(4) 

34. PQ 

:-

SR
Q

P

(1) PQ 
(2) RS 
(3) QR 
(4) RS QR 

35.   
   3 : 2   
P  
 :-

(1) 5P (2) 1.5P (3) P (4) 
2

5
P

36. 
:-

60º

(1) 
1

3
(2) 

1

2
(3) 2 (4) 3
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37. Pure inductance of 3.0 H is connected as
shown below. The equivalent inductance of the
circuit is : -

(1) 1H (2) 2H

(3) 3H (4) 9H

38. White light is incident on glass-air interface. If

green light just suffers TIR then the colour

coming out in air are :-

White 
light

Glass

Green

(1) Yellow, orange, red

(2) Violet, Indigo, blue

(3) All colour

(4) Light does not come  out

39. A rectangular  co il  ABCD is  ro tated

anticlockwise wi th  a  uni form angular

velocity about the axis shown in diagram

below. The axis of rotation of the coil as

well as the magnetic field B are horizontal.

The induced e.m.f.  in the coil  would be

maximum when : -

D

A

B

C

axis

(1) The plane of the coil is horizontal

(2) The plane of the coil makes an angle of 45º

with the magnetic field

(3) The plane of the coil is at right angles to the

magnetic field

(4) The plane of the coil makes an angle of 30º

with the magnetic field

40. A light source is 12 cm below water 
4

µ
3

 
   .

The radius of the disc where light comes out

is :-

(1) 36 7 (2) 
36

7
(3) 36 5 (4) 4 5

37. 3.0 H 

 : -

(1) 1H (2) 2H

(3) 3H (4) 9H

38. 

:-

White 
light

Glass

Green

(1) 
(2) 
(3)  
(4) 

39. ABCD 



B 

 : -

D

A

B

C

v{k

(1) 

(2)  45º 



(3) 

(4)  30º 



40. 
4

µ
3

 
    12 


 :-

(1) 36 7 (2) 
36

7
(3) 36 5 (4) 4 5
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41. In an ac circuit, V and I are given by

V = 100sin(100 t)volts, I = 100sin 100t
3

 
 

 
mA.

The power dissipated in circuit is : -

(1) 104 watt (2) 10 watt

(3) 2.5 watt (4) 5 watt

42. A ray is incident at an angle of incident i on a

thin prism of angle A and emerges normally

from the other face. Then is :-

(1) A / µ (2) A/2µ

(3) µ A (4) µA/2

43. The power is transmitted from a power house
on high voltage ac because : -

(1) Electric current travels faster at higher volts

(2) It is more economical due to less power
wastage

(3) It is difficult to generate power at low
voltage

(4) Chances of stealing transmission lines are

minimized

44. Total number of reflections of the light ray will

be :-

0.2 m

32

(1) 28 (2) 30

(3) 34 (4) 36

45. Which of the following have non-zero average

value in a plane electromagnetic wave.

(a) Electric field

(b) Magnetic field

(c) Electric energy

(d) Magnetic energy

(e) Poynting vector

(1) (a) and (b)

(2) (a), (b), (c) and (d)

(3) (c) and (d)

(4) (c), (d) and (e)

41. ac V  I 

V = 100sin (100 t)volts   I = 100sin 100t
3

 
 

 
mA.

 : -
(1) 104 watt (2) 10 watt

(3) 2.5 watt (4) 5 watt

42. A i

:-

(1) A / µ (2) A/2µ

(3) µ A (4) µA/2

43.   ac  

   : -

(1) 

(2) 

(3) 

(4) 

44. :-

0.2 m

32

(1) 28 (2) 30

(3) 34 (4) 36

45. 


(a) 

(b) 

(c) 

(d) 

(e) 

(1) (a)  (b)

(2) (a), (b), (c)  (d)

(3) (c)  (d)

(4) (c), (d)  (e)

Use stop, look and go method in reading the question
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46. A current of 3 amp. was passed for 2 hours through

a solution of CuSO
4
. 3gm of Cu+2 ions were

discharged at cathode. Calculate current efficiency.

(1) 42.2% (2) 52.2%

(3) 36.2% (4) 30.0%

47. Major pollutant in Jet plane emission is :-

(1) SO2 (2) CFC

(3) CO (4) CCl4

48. How many amp. are required to liberate 10gm I
2

from KI solution in 1 hour. (atomic mass of I = 127)

(1) 2.1 amp. (2) 1.1 amp.

(3) 0.1 amp. (4) 3.1 amp.

49. Photochemical smog was first observed in :-

(1) London (2) Los Angeles

(3) Paris (4) Tokyo

50. The ionic mobility of alkali metal ion in aqueous

solution is maximum for :-

(1) K+ (2) Rb+

(3) H+ (4) Na+

51. Which is the main factor of water pollution :-

(1) Smoke (2) Industrial waste

(3) Detergent (4) NH3

52. Specific conductance of 0.01 N KCl solution is

x ohm–1cm–1 having conductance y ohm–1. Specific

conductance of 0.01N NaCl having conductance

z ohm–1 is :-

(1) xy/z (2) xz/y

(3) z/xy (4) none

53. Which is correct about H-bonding in nucleotide:-

(1) A - T, G - C (2) A - G, T - C

(3) G - T, A - C (4) A - A, T - T

54. During electrolysis of CuSO
4
 using

Pt-electrodes the pH of solution:-

(1) increase s (2) decreases

(3) remain same (4) none of these

55. Which is a tranqilizer drug :-

(1) Mifepristane (2) Promethazine

(3) Valium (4) Naproxen

56. In CH
2
=CCl

2
, the two carbon atoms have

oxidation number respectively:

(1) –2, +2 (2) –2, –2

(3) +2, +2 (4) 0, –2

57. Paracetamol is :-

(1) Analgesic (2) Anti pyretic

(3) Both (1) & (2) (4) Antiseptic

46. CuSO
4
 2 3 amp. 

3gm Cu+2 

(1) 42.2% (2) 52.2%

(3) 36.2% (4) 30.0%

47.   :-
(1) SO2 (2) CFC

(3) CO (4) CCl4

48. KI I
2
  1  

(I  = 127)

(1) 2.1 amp. (2) 1.1 amp.

(3) 0.1 amp. (4) 3.1 amp.

49. :-
(1)  (2) 
(3)  (4) 

50. 

(1) K+ (2) Rb+

(3) H+ (4) Na+

51.   :-
(1)  (2) 
(3)  (4) NH3

52. 0.01  N KCl                 
x ohm–1 cm–1 y ohm–1 0.01 N NaCl

       
z ohm–1 
(1) xy/z (2) xz/y

(3) z/xy (4) 
53. H- :-

(1) A - T, G - C (2) A - G, T - C

(3) G - T, A - C (4) A - A, T - T

54. CuSO
4
 (Pt ) 

pH 
(1)  (2) 
(3)  (4) 

55.   :-
(1)  (2) 
(3)  (4)  

56. CH
2
=CCl

2
 


(1) –2, +2 (2) –2, –2

(3) +2, +2 (4) 0, –2

57.  :-
(1)   (2) 
(3) (1)  (2) (4) 

Take it Easy and Make it Easy
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58. NH
3
 

3CuO + 2NH
3
 3Cu + N

2
 + 3H

2
O

(1) 17 (2) 17/4

(3) 17/2 (4) 17/3

59.  :-
(1)  (2) 
(3)  (4) 

60. 
4Fe + 3O

2
 4Fe+3 + 6O–2

  
(1) 
(2) O

2
 

(3) Fe 
(4) 

61.  :-
(1)  (2) 
(3)  (4) PVC

62. 
(1) Mg+2/mg; E° = –2.73V

(2) Zn+2/Zn; E° = –0.76V

(3) Cu+2/Cu; E° = +0.34V

(4) Fe+3/Fe+2; E° = +0.77V

63.  :-
(1) -6 (2) -6, 6

(3)  (4) 
64.   

Fe|FeSO
4
  ; E0

OP 
= 0.44V

(0.2M)

(1) 0.46V (2) 0.12V

(3) 0.91V (4) 4.6V

65. -  :-
(1)  (2) 
(3)  (4) 

66. XY 0.0092

X+ Y– 

43 65–1 XY 

(1) 8.5 (2) 0.085

(3) 0.85 (4) 

67.  
 :-
(1)  (2) 
(3)  (4) 

58. What is the equivalent weight of NH
3 
in the given

reaction ?

3CuO + 2NH
3
 3Cu + N

2
 + 3H

2
O

(1) 17 (2) 17/4 (3) 17/2 (4) 17/3

59. Terylene is a :-

(1) Polyamide (2) Polyurethane

(3) Polyester (4) Polycarbonate

60. In the reaction :

4Fe + 3O
2
 4Fe+3 + 6O–2

Which of the following statements is correct:

(1) A redox reaction

(2) O
2
 is reducing agent

(3) Fe is an oxidizing agent

(4) None of these

61. Which one is a step growth polymer :-

(1) Bakelite (2) Polyethylene

(3) Teflon (4) PVC

62. Which of the following is most readily reduced

(1) Mg+2/mg; E° = –2.73V

(2) Zn+2/Zn; E° = –0.76V

(3) Cu+2/Cu; E° = +0.34V

(4) Fe+3/Fe+2; E° = +0.77V

63. Which of the following is a copolymer :-

(1) Nylon-6 (2) Nylon-6, 6

(3) Orlon (4) Neoprene

64. Calculate electrode potential of half cell given

below :

Fe|FeSO
4
 ;  E0

OP 
= 0.44V

(0.2M)

(1) 0.46V (2) 0.12V

(3) 0.91V (4) 4.6V

65. An -helix is a structure feature of :-

(1) Polypeptides (2) Polyethylene

(3) Cellulose (4) Rubber

66. A decinormal solution of XY has specific

conductivity equal to 0.0092. If at infinite dilution

ionic conductances of X+ and Y– ions at the same

temperature are 43.0 and 65.0 ohm–1 respectively.

Calculate the degree of dissociation of XY

solution.

(1) 8.5 (2) 0.085 (3) 0.85 (4) None

67. Which of the following peptide hormones controls

blood pressure ?

(1) Vasopressin (2) Oxytocin

(3) Bradykinin (4) Insulin

      
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68. NO H
2
  

500 mm 100 
250 mm 
200 sec. 

(1) 1 (2) 4

(3) 3 (4) 2

69.     :-
(1) -B2

(2) -A
(3) -C (4) -D

70.            
E

a
, 4.15 kJ mol–1  

E
a
, 8.3 kJ mol–1 ln  K  

1

T
 


(1) +1 (2) –1 (3) –1000 (4) +1000

71.     :-
(1) 
(2) 
(3) 
(4) 

72. K
310

/K
300

 

(1) A + B C ; E

a
 = 50 kJ

(2) X + Y  Z; E
a
 = 40 kJ

(3) E + F G; E
a
 = 100 kJ

(4) P + Q R; E
a
 = 60 kJ

73.  :-
(1)  (2) 
(3)  (4) 

74. A  nB 

B 

A0

time

C
on
c.

(1) 
0nA

2
(2) 

0A

n 1

(3) 
0nA

n 1
(4) 0

n 1
A

n 1

 
  

68. In the reaction of NO by H
2
 it was observed that

equimolar mixture of gases at 500 mm pressure

was half changed in 100 seconds. In another

experiment with an initial pressure of 250 mm,

the reaction was half completed in 200 sec.

calculate the order of reaction :-

(1) 1 (2) 4 (3) 3 (4) 2

69. Which of the following vitamine Contains nitrogen:-

(1) Vitamin-B2
(2) Vitamin-A

(3) Vitamin-C (4) Vitamin-D

70. The E
a
 of a reaction in the presence of a catalyst

is 4.15 kJ mol–1 and in the absence of catalyst is

8.3 kJ mol–1. What is the slope of the plot of ln

K vs 
1

T
 in the absence of catalyst.

(1) +1 (2) –1 (3) –1000 (4) +1000

71. Proteins can be detected by :-

(1) Bilestein test

(2) Benedict test

(3) biuret test

(4) Molisch test

72. For which of the following reaction K
310

/K
300

would be maximum :-

(1) A + B C ; E
a
 = 50 kJ

(2) X + Y  Z; E
a
 = 40 kJ

(3) E + F G; E
a
 = 100 kJ

(4) P + Q R; E
a
 = 60 kJ

73. Which of the following is a nonreducing sugar:-

(1) Lactose (2) Fructose

(3) Cellobiose (4) Sucrose

74. At the point of intersection of the two curves

shown, the conc. of B is given by

for A  nB:-

A0

time

C
on
c.

(1) 
0nA

2
(2) 

0A

n 1

(3) 
0nA

n 1
(4) 0

n 1
A

n 1

 
  

         
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75. Starch is converted into maltose by the enzyme:-

(1) Zymase (2) Invertase

(3) Maltase (4) Diastase

76. For an elementary reaction

P(g) Q(g) + R(g)

the half life periods is 10 min. In what period of

time would the concentration of P be reduced to

10% of original concentration:-

(1) 20 min. (2) 33 min.

(3) 15 min (4) 25 min.

77. Which monosaccharides does not have a pyranose

structure :-

(1) Ribose (2) Threose

(3) Fructose (4) Monnose

78. Which of the following is double decomposition

reaction for preparation of colloidal solution ?

(1) SO2 + H2S  2H2O + 3S(sol)

(2) FeCl3 + 3H2O  Fe(OH)3(sol) + 3HCl

(3) 2AuCl3
 + 3HCHO + 3H

2
O 

       2Au
(sol)

 + 3HCOOH + 6HCl

(4) As
2
O

3
 + 3H

2
S  As

2
S

3(sol)
 + 3H

2
O

79. Identify the incorrect statement for the behaviour

of ethylene diamine (en) as a ligand:-

(1) It is a neutral ligand

(2) It is a bidentate ligand

(3) It is a chelating ligand

(4) It is a monodentate ligand

80. Collodion is :-

(1) 4% solution of nitro cellulose in alcohol

(2) Precipitate of CaCl2

(3) a desert place where delta is formed

(4) Used for intramuscular injection

81. The colour of the coordination compounds

depends on the crystal field splitting. What will

be the correct order of absorption of wavelength

of light in the visible region for the complexes,

[Co(NH3
)
6
]+3, [Co(CN)

6
]–3, [Co(H

2
O)

6
]+3  :-

(1) [Co(CN)6]
–3  > [Co(NH3)6]

+3 > [Co(H2O)6]
+3

(2) [Co(NH
3
)
6
]+3 > [Co(H

2
O)

6
]+3 > [Co(CN)

6
]–3

(3) [Co(H
2
O)

6
]+3 > [Co(NH

3
)
6
]+3 >  [Co(CN)

6
]–3

(4) [Co(CN)6]
–3  > [Co(H2O)6]

+3 > [Co(NH3)6]
+3

82. Colloidal solution shows tyndal effect due to:-

(1) Absorption light

(2) Scattering of light

(3) Zigzag motion

(4) None of above

75.  :-
(1)  (2) 
(3)  (4) 

76.  P(g) Q(g) + R(g) 

10 min. P 

10% 

(1) 20 min. (2) 33 min.

(3) 15 min (4) 25 min.

77.    :-

(1)  (2) 

(3)  (4) 

78.     
 
(1) SO

2
 + H

2
S  2H

2
O + 3S

(sol)

(2) FeCl
3
 + 3H

2
O  Fe(OH)

3(sol)
 + 3HCl

(3) 2AuCl
3
 + 3HCHO + 3H

2
O 

       2Au(sol) + 3HCOOH + 6HCl

(4) As2O3 + 3H2S  As2S3(sol) + 3H2O

79. (en) 
   :-
(1) 
(2)  
(3) 
(4) 

80.  :-
(1) 4% 
(2) CaCl2 
(3)  
(4)  

81. 
,
[Co(NH

3
)
6
]+3, [Co(CN)

6
]–3, [Co(H

2
O)

6
]+3


 :-
(1) [Co(CN)6

]–3  > [Co(NH
3
)
6
]+3 > [Co(H

2
O)

6
]+3

(2) [Co(NH3)6]
+3 > [Co(H2O)6]

+3 > [Co(CN)6]
–3

(3) [Co(H
2
O)

6
]+3 > [Co(NH

3
)
6
]+3 >  [Co(CN)

6
]–3

(4) [Co(CN)6]
–3  > [Co(H2O)6]

+3 > [Co(NH3)6]
+3

82. 
(1) 
(2) 
(3) 
(4) 
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83. The IUPAC name of complex [Ni(NH
3
)
4
][NiCl

4
] is

(1) Tetrachloronickel (II) Tetraamminenickel-(II)

(2) Tetraamminenickel (II) Tetrachloronickel (II)

(3) Tetraamminenickel (II) Tetrachloronickelate (II)

(4) Tetrachloronickel (II) Tetraamminenickelate (II)

84. Which one of the following ore is not

concentrated by froath floatation process :-

(1) Copper pyrites (2) Cinnabar

(3) Pyrolusite (4) Zinc blande

85. For the below statement(s), choose T if the statements

is true and choose F is the statement is false :-

S1
 : In organometallic compounds, carbon is

bonded to metal atom directly.

S2
 : Complexes having d0 or d10 configuration of

metal ions are paramagnetic

S3 : In [Fe(CO)5] the Fe – C bond possesses both

 and  character

S4 : CO is a  acid ligand

(1) T T T T (2) F T F T

(3) T F T F (4) T F T T

86. Four metals and their methods of refining are

given :-

(i) Ni, Cu, Zr, Ga

(ii) Electrolytic, Van Arkel process, Zone

refining, Mond's process

Choose the correct option

(1) Ni : Electrolysis, Cu : Van Arkel process,

Zr : Zone refining, Ga : Mond's process

(2) Ni : Mond's process, Cu : Electrolysis,

Zr : Van Arkel process, Ga : Zone refining

(3) Ni : Mond's process, Cu : Van Arkel process

Zr : Zone refining, Ga : Electrolysis

(4) None of these

87. The total number of possible coordination isomers for

the given compound [Pt (NH3
)
4
Cl

2
] [PtCl

4
] is:-

(1) 2 (2) 4 (3) 5 (4) 3

88. The ore having two different metal atoms is :-

(1) Haematite (2) Galena

(3) Magnetite (4) Copper pyrites

89. The possible number of optical isomers in

[Co (en)2Cl2]
+ are :-

(1) 2 (2) 3 (3) 4 (4) 6

90. Which of the following complex ion possesses

d2sp3 hybridisation :-

(1) [Ni(NH
3
)
6
]+2 (2) [CoF

6
]–3

(3) [FeF
6
]–3 (4) [Co(NH

3
)
6
]+3

83. [Ni(NH
3
)
4
][NiCl

4
]  IUPAC  :-

(1)  (II)  -(II)

(2)  (II)  (II)

(3)  (II)  (II)
(4)  (II)  (II)

84. 
  :-
(1)  (2) 
(3)  (4)  

85.  T F
  :-
S

1
 : 


S
2
 : d0  d10


S3 : [Fe(CO)5] Fe – C  


S4 : CO  
(1) T T T T (2) F T F T

(3) T F T F (4) T F T T

86.       
  :-
(i) Ni, Cu, Zr, Ga

(ii)  ,  , 
  ,  

  :-
(1) Ni : , Cu : ,

Zr :  , Ga :  
(2) Ni : , Cu : ,

Zr :  , Ga :  
(3) Ni : , Cu : 

Zr : , Ga : 
(4) 

87.   [Pt (NH
3
)

4
Cl

2
] [PtCl

4
]    

 :-
(1) 2 (2) 4 (3) 5 (4) 3

88. :-
(1)  (2) 
(3)  (4) 

89. [Co (en)
2
Cl

2
]+ 

 :-
(1) 2 (2) 3 (3) 4 (4) 6

90.              d2sp3

 :-
(1) [Ni(NH

3
)
6
]+2 (2) [CoF

6
]–3

(3) [FeF
6
]–3 (4) [Co(NH

3
)
6
]+3
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91. Health  is  not  affected  by  :  -
(A) Infection
(B) Deficiencies with which a child is born and

defects which the child inherits from
parents from birth

(C) Habits that we have or lack
(D) Black bile
(1)  A,  B,  C (2)  C,  D
(3) Only D (4) A, B, C, D

92. Sillencing of mRNA has been used in
producing transgenic plants resistant to :-
(1) Agrobacterium
(2) Retrovirus
(3) Phytophthora infestense
(4) Meloidegyne incognitia

93. Identify the likely A, B, C, D in the following
life cycle : -

A
C B

D

Option

(A) (B) (C) (D)
(1) Gametocyte Salivary 

gland
Liver Sporozoites

(2) Sporozoites Salivary 
gland

Liver Gamitocyte

(3) Sporozoites Liver Salivary 
gland

Gamitocyte

(4) Sporozoites Liver Gamitocytes Salivary 
gland

94. What is the correct order of three steps of PCR:-
(1) Denaturation; Annealing; Extension
(2) Annealing; Denaturation; Extension
(3) Extension; Annealing; Denaturation
(4) Denaturation; Transformation; Conjugation

91. LokLF; izHkkfor ugha gksrk gS :  -
(A) laØe.k }kjk
(B) os viw.kZrk,sa ftudks ysdj cPpk tUerk gS vkSj os viw.kZrk,sa

tks cPps dks tUe ls gh ek¡ cki ls oa'kkxr :i ls feyrh gS
(C) tks LoHkko gekjs Hkhrj gS ;k ftudh gees deh gS
(D) dkyk fiÙk
(1)  A,  B,  C (2)  C,  D
(3) D dsoy (4) A, B, C, D

92. mRNA ds lkbySflax dk mi;ksx fduds fy, izfrjks/kh
ikjthuh ikS/kksa dks mRiUu djus esa fd;k x;k gS :-
(1) ,xkscSDVhfj;e
(2) fjVªksokbjl
(3) QkbVks¶Fkksjk bUQsUlVsl
(4) esysMksxkbuh bUdksfXuf'k;k

93. uhps fn;s tk jgs thou pØ esa A, B, C, D D;k gks ldrs
gS igpkfu,sa  :  -

A
C B

D

fodYi

(A) (B) (C) (D)
(1) ;qXeutud ykjxzUFkh ;Ñr thok.kqt

(2) thok.kqt ykjxzUFkh ;Ñr ;qXeutud

(3) thok.kqt ;Ñr ykjxzUFkh ;qXeutud

(4) thok.kqt ;Ñr ;qXeutud ykjxzUFkh

94. PCR ds rhu inksa dk lgh Øe gS :-
(1) foÏfrdj.k; rkikuq'khryu; izlkj
(2) rkikuq'khryu; foÏfrdj.k; izlkj
(3) izlkj; rkikuq'khryu; foÏfrdj.k
(4) foÏfrdj.k; :ikUrj.k; la;qXeu

J ges'kk eqLdjkrs jgsa A
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95. Which one of the following options gives the
correct matching of a disease with its pathogen
and mode of infection?

Pathogen Mode of 
infection

(1) Pneumonia Haemophilus
influenzae

Droplet 
infection

(2) Typhoid Salmonella
typhi

Airborn 
infection

(3) Malaria Plasmodium Bite by male
Anopheles

(4) Filariasis Wuchereria
bancrofti

Infected food
and water

Disease

96. Biolistics method is suitable for :-
(1) Constructing r-DNA by joining with vector
(2) DNA finger printing
(3) Disarming pathogen vector
(4) Transformation of plant cell

97. Following diagram of  HIV shows A,  B,  C and D
(respectively)

B
A

C

D

(1) SS-RNA, Reverse transcriptase, lipoprotein
GP-120

(2) GP-120, SS-RNA, Reverse transcriptase,
lipoprotein

(3) Reverse transcriptase, SS-RNA, Lipoprotein
GP-120

(4) GP-120, Lipoprotein, SS-RNA, Reverse
transcriptase

98. Read the following four statements (A - D) :-
(A) The contrasting traits did not show any

blending at either F1 or F2 stage.
(B) Dominance is an autonomous feature of a

gene when more than one phenotype is
influenced by the same gene.

(C) In Grasshopper male have only one
X-chromosomes besides the autosome,
whereas females have a pair of
X-chromosome

(D) Female heterogamy found in drosophila
How many of the above statements are right
(1) Two (2) Three (3) Four (4) One

95. fuEu esa ls dkSulk feyku jk sx] jk sxtud ,oa laØe.k

fof/k gsr q lgh gS\

jksx tud laØe.k fof/k

(1) U;weksfu;k fgeksfQyl  

bU¶yw,ath

MªksIysV laØe.k

(2) Vk;QkWbM lkYeksusyk 

VkbQh

ok;q tfur 

laØe.k
(3) eysfj;k IykTeksfM;e uj ,uksfQyht 

}kjk dkVus ij
(4) Qkbysfj,fll oqpsjsfj;k 

casØks¶VkbZ

laØfer Hkkstu o 

ty

jksx

96. ck;ksysfLVd fof/k fdlds fy, mi;qZDr gS :-
(1) osDVj dks tksM+dj r-DNA cukus esa
(2) DNA vaxqyh Nkih
(3) fMlvkfeZx isFkkstu okgd
(4) ikni dksf'kdk ds :ikUrj.k esa

97. fuEufyf[kr fp= HIV ds fdu fpfUgr A, B, C o D
Hkkxksa dks Øe'k% n'kkZ jgk gS :  -

B
A

C

D

(1) SS-vkj-,u-,-] fjolZ Vªk alfØIVst] fyik sizk sVhu]
GP-120

(2) GP-120, SS-vkj-,u-,-] fjolZ Vªk alfØIVst]
fyiksizksVhu

(3) fjolZ VªkUlfØIVst] SS-vkj-,u-,-] fyiksiz k sVhu]
GP-120

(4) GP-120, fyiksizkVhu] SS-vkj-,u-,-] fjolZ
VªkUlfØIVst

98. fuEufyf[kr pkj dFkuksa (A-D) dks if<, :-

(A) foi;kZlh y{k.k fdlh Hkh izdkj dh fefDlax iznf'kZr
ugh djrs u rks F1 esa uk gh F2 esa

(B) izHkkfodrk fdlh Hkh thu dk Lok;Ùk y{k.k gksrk gS
tc ,d ls T;knk y{k.k izk:i ,d gh thu ds }kjk
izHkkfor gksrs gSa

(C) fVìs esa uj esa vkVkslkse ds lkFk ,d X-xq.klw= gksrk
gS tcfd eknk esa ,d tksM+h X-xq.klw= gksrk gS

(D) MªkslksfQyk esa eknk fo"ke;qXedh gksrh gS A

mijksDr fn;s x;s dFkuksa esa ls fdrus lgh gSa

(1) nks (2) rhu (3) pkj (4) ,d
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99. Read the following four statements (A-D)
(A)The lips and finger nails may turn gray to

bluish in colour (in severe cases of Typhoid)
(B) Rhino viruses infect the nose and

respiratory passage but not the lungs
(C) Intestinal perforation and death may occur

in severe cases of typhoid
(D)Streptococcus pneumoniae infects the

alveoli of the lungs
How many of the above statements are correct :-
(1) One (2) Two (3) Three (4) Four

100. In eukaryote RNA polymease-II transcribes
precursor of :-
(1) tRNA (2) mRNA
(3) rRNA (4) Genetic RNA

101. Read the following four statements (A-D)
(A)Good humour hypothesis of health was

disproved by Hippocrates
(B) Typhoid fever could be confirmed by widal

test
(C) Dysentery, Plague, Diphtheria are water

born diseases
(D)The rupture of RBCs is associated with release

of a toxic substance haemozoin which is
responsible for the chill and high fever

How many of the above statements are not correct:-
(1) Four (2) One (3) Two (4) Three

102. The split gene arrangements represents
probably :-
(1) Advance feature of genome
(2) Ancient feature of genome
(3) Dominance of DNA world
(4) Dominance of protein world

103. How many of the following diseases are vector borne
[Malaria, Dengue, Common cold, Filariasis,
Chikungunya, Ascariases, Typhoid, Pneumonia]
(1) Seven (2) Six (3) Five (4) Four

104. Productivity depend on :-
(1) Plant species inhibiting a particular area
(2) Availability of nutrients
(3) Photosynthetic capacity of plant
(4) All

105. How many of the following diseases are viral
[Filariasis, Malaria, Ascariasis, Typhoid, Common
cold, Pneumonia, Measles, Polio, AIDS]
(1) Four (2) Five (3) Six (4) Seven

99. fuEufyf[kr pkj dFkuksa (A-D) dks if<+, :  -
(A) gksaB vkSj gkFk dh mxfy;ksa ds uk[kwuksa dk jax /kwlj ls ysdj

uhyk rd gks tkrk gS] (Vk;QkWbM ds xaHkhj ekeyks esa)
(B) uklk fo"kk.kq ukd vkSj 'olu iFk dks laØfer djrs

gSa] ysfdu QsQM+ksa dks ugha
(C) Vk;QkWbM ds xaHkhj ekeyksa esa vka= esa Nsn o èR;q Hkh

gks ldrh gS
(D) LVªsIVksdksDl U;weksuh QsQM+ksa dh dqfidkvksa dks laØfer

djrk gS
mijksDr dFkuksa esa ls fdrus lgh gS :  -
(1) ,d (2) nks (3) rhu (4) pkj

100. ;qdsfj;ksV~l esa vkj-,u-, iksyhesjst-II fdlds iwoZorhZ dks
VªkUlØkbc djrk gS :-
(1) tRNA (2) mRNA
(3) rRNA (4) vkuqokaf'kd RNA

101. fuEufyf[kr pkj dFkuksa (A-D) dks if<+,
(A)LokLFk ds ̂ ^vPNs rjyksa dh ifjdYiuk^^ dks fgIiksdsVht

}kjk xyr fl¼ fd;k x;kA
(B) VkbQkWbM Toj iqf"V foMky ijh{k.k ls gks ldrh

gSA
(C) isfp'k] Iysx vkSj fM¶Fkhfj;k ty tfur jksx gSA
(D)yky jDr df.kdkvksa ds QVus ds lkFk gh ,d vfo"kkyq

inkFkZ ghekstksbu fudyrk gS tks fBBqju vkSj mPp vkorhZ
Toj ds fy, mÙkj nk;h gksrk gSA

mijksDr dFkuksa esa ls fdrus lgh ugha gS :  -
(1) pkj (2) ,d (3) nks (4) rhu

102. foHkDr thu O;oLFkk lEHkor% thukse ds fdl :i dks iznf'kZr
djrk gS :-
(1) thukse ds fodflr y{k.k dks
(2) thukse ds vkfne y{k.k dks
(3) Mh-,u-,- lalkj dh izHkwrk dks
(4) izksVhu lalkj ds izHkwrk dks

103. fuEu esa ls fdrus jksx okgd tfur gSA
[eysfj;k] Msaxw] lkekU; tqdke] QhyikWo] fpdu xqfu;k]
,Ldsfj,fll] Vk;QkWbM] U;weksfu;k]
(1) lkr (2) N% (3) ikWp (4) pkj

104. mRikndrk fuHkZj djrh gS %&
(1) fuf'pr {ks= esa ik;s tkus okyh ikni iztkrh ij
(2) iks"kd dh miyC/krk ij
(3) ikniksa dh izdk'k la'ys"k.k dh nj ij
(4) mijksDr lHkh

105. fuEu esa ls fdrus jksx fo"kk.kq tfur gS
[Qkbysfj;k] eysfj;k] ,Ldsfj,fll] Vk;QkWbM] lkekU;
tqdke] U;weksfu;k] [kljk] iksfy;ks] ,M~l]
(1) pkj (2) ikWp (3) N% (4) lkr
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106. The decomposers like bacteria, flagellates etc.
are especially abundant in______of the pond.
(1) Lateral side
(2) Upper part
(3) Bottom
(4) Equally distributed throughout pond

107. Consider the following four statements (A-D)
and select the option which includes all the
correct ones only :-
(A)Ability of the host to fight the disease

causing organisms conferred by the
immune system is called allergy

(B) Highly intensified secondary immune
response is also called as anamnestic response

(C) Innate immunity is characterised by memory
(D)Antibody molecule has two light

polypeptide chains
(1) Statements B and D (2) Statements A, B
(3) Statements A, D (4) Statements A, C, D

108. How many statements are not correct :-
(a) Eutrophication is natural aging of a lake by

nutrient enrichment of its water.
(b) Methane is major cause of green house

effect
(c) Ozone is harmful for human in troposphere.
(d) Thickness of ozone is measured in metre

scale.

(1) Four (2) Three (3) Two (4) One

109. Passive immunity is defined as : -

(1) Inherited from the parents

(2) Achieved through vaccination

(3) Acquired through first exposure to the disease

(4) Achieved through the sera of other animals
enriched in antibodies

110. How many statements are correct :-
(a) Vertical distribution of different species

occupying different levels is called stratification
(b) The rate of biomass production is called

productivity.
(c) Detritus is raw material for the

decomposition process in which
decomposers break down complex organic
matter into simple organic matter and
inorganic substances like CO2,  H2O etc.

(d) Decomposition rate is slower when detritus
is rich in lignin and chitin.

(1) Three (2) Two (3) One (4) Four

106. vi?kVd tho tSls cSfDVfj;k] ¶ySthysV~l bR;kfn eq[;r;k
rkykc esa______ik;s tkrs gSaA
(1) ysVjy lkbM ij
(2) Åij dh rjQ
(3) ryh ij
(4) iw.kZ rkykc esa leku forfjr

107. fuEufyf[kr pkj dFkuk s a  (A-D) ij fopkj dhft,
vkSj dsoy lHkh lgh dFkuk sa okyk ,d fodYi pqfu,:-
(A)ijiks"kh dh jk sx dkjd thoks a ls yM+us dh {kerk

tks mls iz frj{kh&ra= ds dkj.k feyh gS ,ythZ
dgykrh gS

(B) mPp rhozrk dh f}rh; izfrj{kk vuqfØ;k ,u,EusfLVd
vuqfØ;k Hkh dgykrh gS

(C) lgt izfrj{kk dk fo'ks"k y{k.k Lèfr gS
(D)izfrj{kh v.kq nks gYdh ikWfyisIVkbM Ja[kyk,sa j[krk

gSA
(1) dFku B, vkSj D (2) dFku A,  B
(3) dFku A,  D (4) dFku A,  C,  D

108. fuEu esa ls fdrus dFku lR; ugha gSa %&
(a) ikuh esa lqiks"khr inkFkksZa dh òf¼ gksus ls >hy dk izkd`frd

dky izHkkou gksrk gSA
(b) CH4 gfjr xzg izHkko dk eq[; dkj.k gSA
(c) VªksdksfLQ;j esa vkstksu ekuo LokLFk; ds fy; uqdlkuns;

gksrh gSA
(d) vkstksu dh eksVkbZ dks ehVj Ldsy esa ekik tkrk gSA
(1) pkj (2) rhu (3) nks (4) ,d

109. fuf"Ø; izfrj{kk dks ifjHkkf"kr fd;k tkrk gS :  -
(1) ekrk firk ls vkuqokaf'kd
(2) Vhdkdj.k }kjk izkIr
(3) jksx ds izFke ckj gksus ls vftZr
(4) vU; tho ds lsjk }kjk izkIr ftlesa izpqj ek=k esa izfrj{kh

gksrh gS
110. fuEu esa ls fdrus dFku lR; gSa %&

(a) fofHkUu Lrjksa ij fofHkUu iztkfr;ksa ds m/okZ/kj forj.k dks
LrjfoU;kl dgrs gSaA

(b) tSo Hkkj ds fuekZ.k fd nj dks mRikndrk dgrs
gSaA

(c) vijn vi?kVu ds fy;s dPps inkFkZ dk dke djrk gS
vkSj vi?kVd blesa mifLFkr tfVy dkcZuhd lkexzh dks

ljy dkcZfud inkFkZ rFkk vdkcZfud rRoksa tSls CO2,

H2O esa [kf.Mr djus esa lgk;rk djrs gSaA

(d) tc vijn esa fyXuhu o dkbfVu mifLFkr gksrs gSa] rc

vi?kVu dh izfØ;k f/keh gksrh gSA

(1) rhu (2) nks (3) ,d (4) pkj
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111. Which of the following are responsible for
producing immune response : -
(1) Antibodies (2) T-lymphocytes
(3) B-lymphocytes (4) Antigen

112. Match the column :
(a) Fragmentation (i) Leads to accumulation

of a dark coloured
amorphous substance.

(b) Humification (ii) Water-soluble inorganic
nutrients go down into
soil horizon

(c) Catabolism (iii) Bacterial and fungal
enzymes degrade
detritus into simpler
organic and inorganic
substances

(d) Leaching (iv) Detritivores break down
detritus into smaller
particles

(1) a–iii, b-i, c-iv, d-ii (2) a-iv, b-i, c-ii, d-iii
(3) a-iv, b-iii, c-i, d-ii (4) a-iv, b-i, c-iii, d-ii

113. ELISA is diagnostic test for : -
(i) AIDS (ii) Cancer
(iii) Thyroid disorders (iv) S.T.D
(v) Malaria (vi) Hepatitis
(vii) Gravidex test
(1) Only for (i) (2) i, ii, iv, v, vi
(3) i, iii, iv, vi, vii (4) all are correct

114. Which represents inverted pyramid :-
(a) Pyramid of number in grassland ecosystem
(b) Pyramid of energy in pond ecosystem
(c) Pyramid of biomass in grassland ecosystem
(d) Pyramid of biomass in aquatic ecosystem
(1)  a,  b (2)  c,  d (3)  a,  c (4)  d

115. Transformation of normal cells into cancerous
neoplastic cells may be induced by : -
(i) x-rays (ii) Chemical agents (iii) g-rays
(iv) HIV (v) Smoking (vi) U.V. rays
(1)  i,  iii,  vi (2)  i,  iii,  iv,  vi
(3) i, ii, iii, iv, v, vi (4) i, ii, iii, iv, vi

116. Which is not true for primary succession :-
(a) Humus or organic matter is absent in early

stages
(b) The area is barren from begining.
(c) Reproductive structure of previous living

beings may be present.
(d) Primary succession is slower than secondary

succession.
(1)  a (2)  b (3)  c (4)  d

111. fuEu esa ls dkSu izfrj{kk vuqfØ;k mRiUu djus ds fy, mÙkj
nk;h gS :  -
(1) izfrj{kh (2) Vh-yfldk.kq
(3) ch-yfldk.kq (4) izfrtu

112. fuEu LrEHk dk feyku dhft;s %&
(a) [k.Mu (i) ds }kjk xgjs dkys jax ds

fØLVy jfgr rRo dk fuekZ.k
gksrk gSA

(b) áwehfQds'ku (ii) blds vUrZxr ty foys;
vdkcZuhd iks"kd Hkweh ènk
laLrj esa izfo"V dj tkrs gSaA

(c) vip;u (iii) csfDVfj;y ,oa dodh;
,atkbe vijnksa dks ljy
dkcZfud o vdkcZfud rRoksa
esa rksM+ nsrs gSaA

(d) fu{kkyu (iv) vijngkjh }kjk vijn dks

NksVs&NksVs VqdM+ksa esa rksM+uk
(1) a–iii, b-i, c-iv, d-ii (2) a-iv, b-i, c-ii, d-iii
(3) a-iv, b-iii, c-i, d-ii (4) a-iv, b-i, c-iii, d-ii

113. ,fylk fdlds fy, uSnkfud ijh{k.k gS :  -
(i) ,M~l (ii) dSalj
(iii) Fkk;jkWbM jksx (iv) ,l-Vh-Mh-
(v) eysfj;k (vi) ;Ør'kks/k
(vii) xzsfoMsDl VsLV
(1) dsoy (i) ds fy, (2) i, ii, iv, v, vi
(3) i, iii, iv, vi, vii (4) lHkh lgh gSa

114. fuEu esas ls mYVk fijsehM n'kkZrs gSa %&
(a) ?kkl ifjrU= dh la[;k dk fijsfeM
(b) rkykc ifjrU= dk mtkZ dk fijsfeM
(c) ?kkl ifjrU= dk tSo Hkkj dk fijsfeM
(d) tyh; ifjrU= dk tSo Hkkj dk fijsfeM
(1)  a,  b (2)  c,  d (3)  a,  c (4)  d

115. izlkekU; dksf'kdkvksa dk dSaljh uonzO;h dksf'kdkvksa esa
:ikUrj.k dks iszfjr djus okys dkjd gS :  -
(i) ,Dl fdj.ksa (ii) jklkfud dkjd (iii) xkek fdj.ksa
(iv) HIV (v) /kzweziku (vi) ijkcSaxuh fdj.ksa
(1)  i,  iii,  vi (2)  i,  iii,  iv,  vi
(3) i, ii, iii, iv, v, vi (4) i, ii, iii, iv, vi

116. fuEu esa ls izkFkfed vuqØe.k ds fy, vlR; gS %&
(a) izkFkfed voLFkk esa á;wel vFkok dkcZfud inkFkZ

vuqifLFkr gksrs gSaA
(b) 'kq:vkr esa {ks= catj gksrk gSA
(c) iwoZorhZ thoksa dh tufud lajpuk,sa mifLFkr gksrh gSA
(d) izkFkfed vuqØe.k f}rh;d vuqØe.k ls /khek gksrk gSA
(1)  a (2)  b (3)  c (4)  d
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117. Identify the following a, b, c, d and select the
right option : -

(A) 

(B) 

(C) 

(D) 

Drug Source Effe ct

(1) (A) Morphine Papaver 
somniferum

Stimulant

(2) (B) Cannabinoids Cannabis 
sativa

Dipressant

(3) (C) Marijuana Cannabis 
sativa

Accelerates  
the transport         
of dopamine

(4) (D) Heroin Papaver
somniferum

Pain killer

117. uhps fn;s x,s a, b, c, d dks igpkfu,s rFkk lgh fodYi
pqfu, :  -

(A) 

(B) 

(C) 

(D) 

    

Mªx L=ksr izHkko

(1) (A) ekQhZu isisoj 

lksekuhQsje

mÙkstd

(2) (B) dsukfcuksbM dsukfcl 

lsVkbok

 'kked

(3) (C) esjhtqvkuk dsukfcl 

lsVkbok

Mksikfeu ds 

ifjogu dks rhoz 

cuk nsrh gS
(4) (D) gsjkWbu isisoj 

lksekuhQsje

ihM+k uk'kd
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118. Standing crop is
(a) Biomass in unit area
(b) Number of living organisms in unit area
(c) Amount of detritus in unit area
(d) Amount of nutrients elements such as car-

bon, nitrogen etc. in unit area
(1) Only a (2)  a,  b,  c
(3)  a,  b,  d (4)  a,  b

119. How many of the following information are
incorrect about heroin :-
(A) Extracted from latex of poppy plant
(B) White and odourless
(C) Stimulant
(D) Bitter crystalline compound
(E) Diacetyl morphine
(F) Smack
(G) Obtained from inflorescence of Papaver

somniferum
(1) Two (2) One (3) Three (4) Four

120. They may reduce survival, growth and reproduction
of host and reduce its population density. They
might render the host more vulnerable to
predation by making it physically weak. They
are
(1) Predator (2) Parasite
(3) Amensal (4) Commensal

121. Withdrawal symptoms are characterised by :-
(A) Reckless behaviour
(B) Anxiety
(C) Nausia
(D) Vandalism
(E) Sweating
(F) Violence
(G) Shakiness
(1)  A,  D,  F (2)  A,  D,  E,  G
(3)  B,  C,  E,  G (4)  C,  D,  F,  G

122. How many statements are incorrect :-
(a) Predators also help in maintaining species

diversity in a community.
(b) Decomposition is largely an oxygen requir-

ing process
(c) Number of trophic levels in GFC is never

restricted
(d) Some of organisms of DFC are prey to GFC

animals
(1) Three (2) One
(3) Two (4) None

118. [kM+h Qly gS %&
(a) izfrbdkbZ {ks= esa tSo Hkkj
(b) izfrbdkbZ {ks= esa thohr thoksa dh la[;k
(c) izfrbdkbZ {ks= esa vijn dh ek=k
(d) izfrbdkbZ {ks= esa iks"k.k inkFkksZ dh ek=k tSos dkcZu]

ukbVªkstu] bR;kfnA
(1) flQZ a (2)  a,  b,  c
(3)  a,  b,  d (4)  a,  b

119. fuEu esa  ls fdruh lwpuk,s gsjk Wbu ds fy, vlR;
gS :-
(A) iksLr ds ikS/ks ds ysVsDl ds fu"d"kZ.k ls izkIr gksrk gS
(B) lQsn o xa/kghu
(C) mÙkstd
(D) dMok josnkj ;kSfxd
(E) Mkb,flVkby ekWQhZu
(F) LeSd
(G) isisoj lksEuhQsje ds iq"iØe ls izkIr gksrh gS
(1) nks (2) ,d (3) rhu (4) pkj

120. os ijiks"kh dh mÙkjthohrk] of̀¼ rFkk tuu dks de dj ldrs
gSaA rFkk blds lef"V ?kuRo dks ?kVk ldrs gSaA os ijiks"kh dks

detksj cukdj mls ijHk{k.k ds fy;s vf/kd lqxe cuk nsrs

gSaA os gSa %&

(1) ijHk{kh (2) ijthoh

(3) veuly (4) lgHkksth

121. fofuorZu lay{k.k gS :  -
(A) va/kk/kq/k O;ogkj
(B) fpark
(C) fepyh
(D) ccZjrk
(E) ilhuk vkuk
(F) fgalk
(G) daiu
(1)  A,  D,  F (2)  A,  D,  E,  G
(3)  B,  C,  E,  G (4)  C,  D,  F,  G

122. fuEu esa ls fdru dFku xyr gSa %&
(a) ijHk{kh leqnk; esa tkrh; fofo/krk dks lUrqfyr cuk;s

j[kus esa lgk;rk djrs gSaA
(b) vi?kVu foLr̀r :i ls vkWDlhtu bLrseky djus okyh

izfØ;k gSA
(c) pkj.k [kk| J`a[kyk esa iks"k.k Lrjksa dh la[;k izfrcfUèkr

ugha gksrh gSA
(d) vijn [kk| J` a[kyk ds dqN tho] pkj.k [kk|

Ja`[kyk&i'kqvksa ds f'kdkj gksrss gSaA
(1) rhu (2) ,d
(3) nks (4) dksbZ ugha
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123. (A) Gynecomastia
(B) Hypogonadism
(C) Barr body
(D) Mental retardation
(E) Sterile male
Above symptoms are not correct about : -
(1) XXY (2) XXXY
(3) 1 & 2 both (4) XO

124. How many statement are correct :
(a) In an aquatic ecosystem, grazing food chain

is major conduit for energy flow
(b) Detritus food chain may be connected with

grazing food chain of some level
(c) Each tropic level has a certain mass of liv-

ing material at a particular time called as
standing state

(d) Species composition and stratification are
two main structural features of an ecosys-
tem.

(1) b, c, d (2) a, b, c (3) a, b, d (4) a, c, d
125. Which of the following is not an autoimmune

disease :-
(1) Rheumatoid arthrithis
(2) Myasthenia gravis
(3) Anaemia
(4) Graves disease

126. Plants capture only___of the PAR and this
small amount of energy sustains the entire liv-
ing          world:-
(1) 2–20% (2) 10–15%
(3) 30–40% (4) 2–10%

127. Which one of the following is not employed
as a tranquillizer : -
(1) Equanil (2) Velium
(3) Benzodiazepine (4) None of these

128. Given graph depicts optimum temperature and
mean annual precipitation of a biome. Biome
shown in the graph is :-

20

10

0

–10

100 200 300cm
(1) Tropical rain forest (2) Tundra
(3) Coniferous forest (4) Desert

123. (A) xk;usdksesfLV;k
(B) vfodflr tun
(C) ckj dk;
(D) eUn cqf¼
(E) cU/; iq:"k
mijksDr y{k.k fdlds fy, lR; ugh gS :  -
(1) XXY (2) XXXY
(3) 1 o 2 nksuksa (4) XO

124. fuEu esa ls fdrus dFku lR; gSaA
(a) tyh; ifjrU= esa pkj.k [kk| J`a[kyk mtkZ izokg dk

egRoiw.kZ lk/ku gSA
(b) dqN Lrjksa ij vijn [kk| J̀a[kyk dks pkj.k [kk| J̀a[kyk

ls tksM+k tk ldrk gSA
(c) ,d fof'k"V le; ij izR;sd iks"k.k Lrj ij thfor inkFkZ

dh dqN [kkl ek=k gksrh gSA ftls [kM+h voLFkk dgk tkrk
gSA

(d) ,d ifjrU= dh nks egRoiw.kZ lajpukRed fof'k"Vrk,sa
iztkrh la?kVu ,oa Lrjhdj.k gksrh gSA

(1) b, c, d (2) a, b, c (3) a, b, d (4) a, c, d

125. fuEu esa ls dkSulk ,d Loizfrj{kh jksx ugha gS\

(1) vkeokrh xfB;k

(2) ek;kLFksfu;k xzsfol

(3) jDrkYirk

(4) xzsOt jksx
126. ikni flQZ ___ izfr'kr izdk'k la'ys"k.kkRed lØh;

fofdj.k dk izxzg.k djrs gSasA vkSj ;gh vkaf'kd ek=k dh ÅtkZ
laiw.kZ fo'o dk liks"k.k djrh gS %&
(1) 2–20% (2) 10–15%
(3) 30–40% (4) 2–10%

127. fuEu es ls dkSu ,d Vª afDoykbtj dh rjg dke ugha
djrk gS\
(1) bDokfuy (2) osfy;e
(3) csatksMk;kthihu (4) mijksDr esa ls dksbZ ugha

128. bl xzkQ esa ck;kse dk rki vkSj vkSlr ok£"kd o"kZ.k fn;k
x;k gS xzkQ esa fn[kk;k x;k ck;kse gS %&

20

10

0

–10

100 200 300cm
(1) m".k dfVca/k ou (2) VqaMªk
(3) 'kadq/kkjh ou (4) e:LFky
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129. Which of the following acts as a physiological
barrier to the entry of micro organism in human
body :-
(A) Epithelium of Respiratory tract
(B) Monocyte
(C) Tear
(D) Skin
(E) Saliva
(F) Acid in stomach
(G) N-K-cell
(1)  E,  F,  G (2)  B,  C,  E
(3)  C,  E,  F (4)  A,  B,  D

130. Ecological succession proceed towards :-
(1) Mesophytic condition
(2) Hydrophytic condition
(3) Xerophytic condition
(4) All

131. Which of the following is not related to alcoholism:-
(i) Fatty liver syndrome
(ii) Amnesia
(iii) Gastritis
(iv) Bronchitis
(v) Lung cancer
(vi) Liver cirrhosis
(1) iii, iv, v, vi (2) i, ii, iv, v, vi
(3) i, ii, iii, vi (4)  iv,  v

132. Net primary productivity is a :-
(1)  NPP = G.P.P.  –  R
(2)  NPP = G.P.P.  + R
(3) NPP = R – G.P.P.
(4) NPP = G.P.P.

133. A person whose islets of langerhans get
damaged has ate boiled potatoes then his blood
sugar level would be?
(1) 200mg/100ml as a-cells get damaged and

absorption of glucose occurs
(2) 100mg/100ml as digestion is reduced
(3) 200mg/100ml as digestion occurs and

b-cell secretion is reduced
(4) 200mg/100ml as glucagon secretion increase

134. What is the % of impurities which make domes-
tic sewage unfit for human :-
(1) 90% (2) 99.9%
(3) 0.1% (4) 50%

129. lw{ethoksa ds euq"; 'kjhj esa izos'k gsrq fuEu esa ls dkSu dkf;Zdh;

jks/k ds leku dk;Z djrk gS :-

(A) 'olu ekxZ midyk

(B) eksukslkbV

(C) vJq

(D) Ropk

(E) ykj

(F) vkek'k; esa vEy

(G) izkd`frd ekjd dksf'kdk
(1)  E,  F,  G (2)  B,  C,  E
(3)  C,  E,  F (4)  A,  B,  D

130. ikfjfLFkfrdh vuqØe.k fdl vksj c<+rk gS %&
(1) e/;e ty ifjfLFkfr
(2) tykjaHkh ifjfLFkfr
(3) 'kq"drkjaHkh ifjfLFkfr
(4) lHkh

131. fuEu esa ls D;k ,YdksgkWfyTe ls lEcfU/kr ugha gS  :-
(i) QsVh yhoj flUMªkse
(ii) ,Eusft;k
(iii) vkek'k; 'kksFk
(iv) 'oluh 'kksFk
(v) QsQM+ksa dk dSalj
(vi) fyoj fljksfll
(1) iii, iv, v, vi (2) i, ii, iv, v, vi
(3) i, ii, iii, vi (4)  iv,  v

132. usV izkFkfed mRikndrk gksrk gS %&
(1)  NPP = G.P.P.  –  R
(2)  NPP = G.P.P.  + R
(3) NPP = R – G.P.P.
(4) NPP = G.P.P.

133. ,d O;fDr ftldh ySaxjgsal dh f}ihdk,sa u"V gks xbZ gS]
mcys gq,s vkyw [kk ysrk gS rks bldh jDr 'kdZjk dk Lrj
gksxk\
(1) 200mg/100ml, a-dksf'kd,s u"V gks xbZ gS rFkk

Xywdkst dk vo'kks"k.k gks jgk gS
(2) 100mg/100ml ikpu de gks jgk gS
(3) 200mg/100ml ikpu gks jgk gS rFkk b-dksf'kdkvksa

dk L=ko.k de gks x;k gS
(4) 200mg/100ml Xywdk.kksu L=ko.k c<+ x;k gS

134. fdrus izfr'kr vinzO; ls ?kjsyq okfgr ey ekuo mi;ksx ds
yk;d ugha jgrk gS %&
(1) 90% (2) 99.9%
(3) 0.1% (4) 50%

viuh {kerk dks iwjk olwyus dk iz;kl djsa A
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135. In the figure, structure of an antibody molecule
is  shown  Name  the  part  A,  B  and  C  :-

C

A

B

(A) (B) (C)

(1) Heavy chain Light chain
Antigen 

binding site

(2)
Antigen 

binding site
Heavy chain Light chain

(3) Light chain Heavy chain Epitope

(4) Light chain Heavy chain
Antigen 

binding site

136.

A

Dirty 
air

Dustparticle

Clean
air

In following diagram A is a
(1) Discharge corona
(2) Positively charged wire
(3) Lime spray
(4) Collection plate grounded

137. Match the column-I with column-II and
select the correct one : -

Column-I Column-II

(A) Charas (i) Cleviceps purpuria

(B) Cocaine (ii) Euphoria

(C) L.S.D. (iii) Stimulant

(D) Amphetamine (iv) Cannabis sativa

A B C D
(1) iv ii iii i
(2) iv ii i iii
(3) iv i ii iii
(4) iii i iv ii

135. fp=  esa ,d izfrj{kh v.kq dh lajpuk n'kkZ;h xbZ gSA
A, B rFkk C Hkkxksa ds uke crkb,sa :  -

C

A

B

(A) (B) (C)

(1) Hkkjh J a[kyk gYdh J a[kyk
izfrtu cU/ku 

LFky

(2)
izfrtu cU/ku 

LFky
Hkkjh J a[kyk gYdh Ja [kyk

(3) gYdh J a[kyk Hkkjh J a[kyk ,ihVksi

(4) gYdh J a[kyk Hkkjh J a[kyk
izfrtu cU/ku 

LFky

136.

A

Dirty 
air

Dustparticle

Clean
air

bl fp= esa A D;k gS %&
(1) foltZu dksjksuk
(2) /ku vkosf'kr rkj
(3) pwuk Qqgkj
(4) laxzg IysV HkwlaifdZr

137. dkWye-I o dkWye-II dk feyku dj lgh Årj
NkfV;s :  -

dkWye-I dkWye-II

(A) pjl (i) DysohlsIl ijiqfj;k

(B) dksdsu (ii) ;wQksfj;k

(C) L.S.D. (iii) mÙkstd

(D) ,EQhVkehu (iv) dsukWfcl lsVkbok

A B C D
(1) iv ii iii i
(2) iv ii i iii
(3) iv i ii iii
(4) iii i iv ii
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138. In India number of Biosphere reserves :-

(1) 20 (2) 14

(3) 10 (4)  9

139. Read the following four statements (a-d) :-
(a) Inbreeding increase homozygosity
(b) Artificial insemination helps to overcome

all problems of normal matings
(c) Bee keeping is easy and require some

specialised knowledge
(d) Hilsa, common carp, mackerl are edible

marine fishes
How many of the above statements are correct?
(1) One (2) Two
(3) Three (4) Four

140. Species confined to the region and not found
any where else, is called :-
(1) Endemism (2) Niche
(3) Habitat (4) All

141. The best breeding method for animals that are
below average in productivity ?
(1) Cross breeding (2) Out Crossing
(3) Inbreeding (4) All the above

142. Maximum species diversity in invertebrates :-
(1) Insects (2) Mollusc
(3) Fishes (4) Crustaceans

143. How many of the animals in the list given below
are exotic breeds of cow ?
Karanswiss, Sunandani, Karanfries, Brown
swiss, Sahiwal, Jersy, Holstein
(1) Five (2) Four (3) Six (4) Three

144. Example of sedimentary cycle is :-
(1) Nitrogen cycle
(2) Carbon cycle
(3) Phosphorus cycle
(4) All

145. Which of the following are important
components of poultry farm management ?
(1) Hygiene
(2) Safe farm conditions
(3) Proper feed and water
(4) All the above

146. Water soluble inorganic nutrients go down into
the soil horizon and get precipitated as
unavailable salts. This process is called :-
(1) Fragmentation (2) Leaching
(3) Catabolism (4) Humification

138. Hkkjr esa fdrus tSoe.My fjtoZ gSa %&
(1) 20 (2) 14
(3) 10 (4)  9

139. fuEufyf[kr pkj dFkuksa (a-d) dks if<+,\
(a) vr% iztuu le;qXerk dks c<+kok nsrk gS
(b) lkekU; laxe ls mRiUu lHkh leL;k,a Ïf=e oh;Zlspu

dh izfØ;k ls nwj gks tkrh gSA
(c) e/kqeD[kh ikyu vklku gS vkSj blds fy, fo'ks"k izdkj

ds Kku dh vko';drk gksrh gSA
(d) fgylk] dkeu dkiZ] esfdjy [kkus ;ksX; leqnzh eNfy;k¡

gS
mijksDr dFkuksa esa ls fdrus lgh gS%&
(1) ,d (2) nks
(3) rhu (4) pkj

140. og tkfr tks fdlh fo'ks"k {ks= esa gh mifLFkr gksrh gS vU;
fdlh LFkku ij ugha] mldks ge dgrs gSa %&
(1) LFkkfudrk (2) fudsr
(3) vkoklh; (4) lHkh

141. ftu i'kqvksa dh mRiknu {kerk nj vkSlr ls de gksrh gS muds
fy, iztuu dks dkSulh fof/k loZJs"B ekuh tkrh gS:-
(1) ladj.k (2) cfg%ladj.k
(3) var%iztuu (4) mijksDr lHkh

142. lcls T;knk tSofofo/krk vd'ks:dh esa fdldh gksrh gS%&
(1) dhV (2) eksyLd
(3) eRL; (4) ØLVSf'k;k

143. uhps nh xbZ lwph esa fdrus tkuoj fons'kh xk; dh uLy
gSa?
djufLol, lquUnuh, djuÝbZl, ckmu fLot, lkghoky,
tsZlh, gksyLVhu &
(1) ik¡p (2) pkj (3) N% (4) rhu

144. volknh pØ dk mnkgj.k gS %&
(1) ukbVªkstu pØ
(2) dkcZu pØ
(3) QkLQksjl pØ
(4) lHkh

145. fuEufyf[kr esa ls dkSu dqDdqV QkWeZ izca/ku ds fy, egRoiw.kZ
?kVd gS %&
(1) lQkbZ
(2) lqjf{kr QkWeZ dh ifjfLFkfr;k¡
(3) lgh vkgkj rFkk ty
(4) mijksDr lHkh

146. ty foys; vdkcZfud iks"kd Hkwfe e`nk laLrj esa izfo"V dj
tkrs gSa vkSj vuqiyC/k yo.k ds :i esa vo{ksfir gks tkrs gSa
bl izfØ;k dks ge D;k dgrs gSa %&
(1) [kaMu (2) fu{kkyu
(3) vip; (4) áwehfQds'ku
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147. Hisardale is an example of ?
(1) Out Crossing
(2) In breeding
(3) Interspecific hybridisation
(4) None of these

148. When consumer in take green plants, then it
obtain:
(1) G.P.P. (2) N.P.P.
(3) G.S.P. (4) All

149. Read the following four statement is (a – d) :
(a) Fisheries include rearing, catching and

selling of fishes, mollusca etc.
(b)More then 70 percent of the world livestock

population is in India.
(c) Milk yield is primarily dependent on the

quality of breeds in the farm.
(d)The feeding of cattle should be carried out

in scientific manner.
How many of the above statements are right ?
(1) Four (2) One (3) Two (4) Three

150. Parasitic bird lays its eggs in the nest of its host
is called :-
(1) Commensalism
(2) Mutualism
(3) Brood parasitism
(4) Competition

151. Read  the  following  four  statement  (a  -  d)  -
(a) One of the alternate sources of proteins for animal

and human nutrition is single cell protein (SCP)
(b) Microbes like spirulina can be grown easily

on materials like waste water from potato
processing plants (containing starch), straw,
molasses, animal manure and even sewage
to produce large quantities.

(c) Microbes can serve as food rich in protein
but not in minerals, fats, carbohydrates and
vitamins .

(d) Methylophilus methylotrophus has high rate
of biomass production.

How many of the statements are incorrect -

(1) One (2) Two

(3) Three (4) Four
152. Interaction between plants and pollinator is

called:
(1) Competition (2) Predation
(3) Parasitism (4) Mutualism

147. fgljMsy fdldk mnkgj.k gS ?
(1) cfg% ladj.k
(2) var% iztuu
(3) var% fof'k"V ladj.k
(4) mijksDr esa ls dksbZ ugha

148. tc miHkksDrk gjs ikniksa dks [kkrk gS rks mldks D;k izkIr gksrk
gS %&
(1) G.P.P. (2) N.P.P.
(3) G.S.P. (4) All

149. fuEufyf[kr pkj dFkuksa (a – d) dks if<+,\
(a) ekfRL;dh esa  eRL;ks esykLdk bR;kfn dk ikyu iks"k.k

mudks idM+uk cspuk vkfn 'kkfey gSA
(b)  fo'o dh 70 izfr'kr ls Hkh vf/kd i'kq/ku Hkkjr

esa gSA
(c) nqX/k mRiknu ewy :i ls QkeZ eas jgus okys i'kqvksa dh uLy

dh xq.koÙkk ij fuHkZj djrk gSA
(d)i'kqvksa dks Hkk stu iznku djus dk <ax oSKkfud gksuk

pkfg;sA
mijksDr dFkuksa esa fdrus dFku lgh gS\
(1) pkj (2) ,d (3) nks (4) rhu

150. ijthoh i{kh vius vaMs] ijiks"kh ds ?kksalys esa nsrk gS] bldks
ge D;k dgrs gSa %&
(1) lgHkksftrk
(2) lgksidkfjrk
(3) vaM ijthfork
(4) Li/kkZ

151. fuEufyf[kr pkj dFkuksa (a - d) dks if<, &
(1) i'kq rFkk ekuo ds fy, izksVhu ds oSdfYid L=ksrks esa ls

,d ,dy dksf'kdk izksVhu gSaA
(2) Likb:ykbuk dks vkyw lalk/ku la;= ls fudyus okys

csdkj ty (ftlesa LVkpZ gSa) ?kklQl] 'khjk] i'kq[kkn
vkSj ;gk¡ rd fd ofgrey ij vklkuks ls mxk;k tk
ldrk gS rkfd cM+h ek=k es a;g izkIr gks ldsA

(3) Likb:ykbuk esa izksVhu dh izpqj ek=k fo|eku gS fdUrq

[kfutksa] olk] dkcksZgkbMªsVks rFkk foVkfeuksa dh deh gksrh

gSaA

(4) feFkk;yksfQyl feFkk;yksVªksil esa ck;ksekl mRiknu dh

nj mPp gksrh gSaA

mijksDr dFkuksa esa ls fdrus dFku xyr gSa -

(1) ,d (2) nks

(3) rhu (4) pkj

152. ikni vkSj ijkx.kdkfj;ksa ds chp ds lEcU/k dks ge dgrs gSas%

(1) Li/kkZ (2) ijHk{k.k

(3) ijthfork (4) lgksidkfjrk
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153. Match the following

Column-I Column-II

(A) Aspergillus niger (i) Acetic acid

(B) Acetobacter aceti (ii) Butyric acid

(C) Clostridium butylicum (iii) Lactic acid

(D) Lactobacillus (iv) Citric acid

(1) A-(iii), B-(i), C-(ii), D-(iv)
(2) A-(iv), B-(i), C-(ii), D-(iii)
(3) A-(iv), B-(ii), C-(i), D-(iii)
(4) A-(i), B-(ii), C-(iii), D-(iv)

154. Mutualism is represented as :-
(1) +, – (2) +, +
(3) +, 0 (4)  –,  0

155. Which of the following statement is correct-
(1) Antibiotics mean against life in the context

of disease causing organisms whereas with
reference to human beings, they are ‘pro
life’ and not against.

(2) Antibiotics are chemical substances, which
are produced by some microbes and can
kill or retard the growth of other (disease
- causing microbes)

(3) Penicillin was the first antibiotic to be
discovered and it was a chance discovery.
Fleming, Chain and Florey were awarded
the Nobel prize in 1945 for this discovery.

(4) All of the above
156. In any temperate lake, a zone of gradual

change in temperature, is –
(1) Epilimnion
(2) Hypolimnion
(3) Thermocline
(4) None of above

157. Which of the following is incorrect
(1) Lactic acid bacteria convert milk to curd and

also improves its nutritional  quality by
increasing vitamin B12

(2) Toddy is made by fermenting sap from
palms stem.

(3) Large holes Roquefort cheese are due to
production of a large amount of CO2 by
Propionibacterium sharmenii.

(4) Dough used for making bread is fermented
using baker's yeast.

153. fuEu dk feyku dhft, %&

Column-I Column-II

(A) ,Lijftyl ukbxj (i) ,lhfVd vEy

(B) ,slhVkscSDVj ,flVkbZ (ii) C;qfVªd vEy

(C) DyksLVªhfM;e C;wVk;fyde (iii) ysfDVd vEy

(D) ysDVkscsflyl (iv) flfVªd vEy

(1) A-(iii), B-(i), C-(ii), D-(iv)
(2) A-(iv), B-(i), C-(ii), D-(iii)
(3) A-(iv), B-(ii), C-(i), D-(iii)
(4) A-(i), B-(ii), C-(iii), D-(iv)

154. lgksidkfjrk dks ge iznf'kZr djrs gSa %&
(1) +, – (2) +, +
(3) +, 0 (4)  –,  0

155. fuEu esa ls dkSulk okD; lgh gSa &
(1) ,sVhcka;ksfVd 'kCn dk vFkZ gS thou ds f[kykQ

(tks jksxdkjh thoks ds lanHkZ esa) tcfd euq";ksa ds lanHkZ
esa ;g thou ds f[kykQ u gksdj thou ds izfr ekus tkrs
gSaA

(2) izfrtSfod ,d izdkj ds jklk;fud inkFkZ gS] ftudk
fuekZ.k dqN lw{ethfo;ksa }kjk gksrk gSA ;g vU; (jksx
mRiUu djus okys) lw{e thfo;ks dh o`f¼ dks ean vFkok
mUgsa ekj ldrs gSaA

(3) iSuhlhfyu lcls igyk ,sVhck;ksfVd Fkk] ftldh [kkst
,d izdkj dk gknlk ;k vkdfLed ?kVuk FkhA ¶ySfeax]
pSu rFkk ¶ykSjs dks bl [kkst ds fy, 1945 esa ukscy
iqjLdkj ls iqjLd`r fd;k x;kA

(4) mijksä lHkh
156. fdlh le'khrks".k >hy esa og {ks= ftlesa rkieku /khjs&èkhjs

cnyrk gS] dgykrk gS –
(1) ,ihfyEuhvksu
(2) gkbiksfyEuhvksu
(3) FkekZsDykbu
(4) buesa ls dksbZ ugha

157. fuEu esa ls dkSulk okD; xyr gSaA
(1) ysfDVd ,sflM cSfDVfj;k¡ nw/k dks ngh esa ifjofrZr djrs

gS rFkk foVkfeu B12 dh ek=k c<+us ls iks"k.k lacU/kh
xq.koÙkk Hkh c<+rh gSaA

(2) Toddy dks rkMo`{k ds rusa ds L=ko dks fdf.or djkdj
rS;kj fd;k tkrk gSaA.

(3) jkD;qQksVZ pht esa ik, tkus okys cM+s&cM+s fNnz izksfivksfu
cSSDVhfj;e 'kkjesukbZ }kjk cM+h ek=k esa mRiUu CO2 ds
dkj.k gksrs gSaA

(4) <hyk <kyk vkVk ftldk iz;ksx cszM fuekZ.k esa gksrk gS mles
csdj ;hLV }kjk fd.ou fd;k tkrk gSaA
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158. Guild is –

(1) Organism which have similar trophic level

(2) Organism which have different trophic level

(3) Producer's and consumer's of ecosystem

(4) Consumer's of ecosystem

159. Read the following statements and choose the
correct pairs -

(A) is used for commercial production of
ethanol.

(B) is used in detergent formulations and are
helpful in removing oily stains from the
laundry

(C) is used as ‘Clot buster’ for removing clots from
the blood vessel (of patients who have undergone
myocardial infarction leading to heart attack)

(D) is blood - cholesterol lowering agent.

(1) (A) Streptokinase (B) yeast

(C) Lipases (D) Statins

(2) (A) Lipases (B) yeast

(C) Streptokinase (D) Statins

(3) (A) yeast (B) Lipases

(C) Streptokinase (D) Statins

(4) (A) yeast (B) Streptokinase

(C) Lipases (D) Statins

160. Due to Albedo, temperature of earth surface is:-

(1) Increase

(2) Decrease

(3) Unchanged

(4) First increase then decrease

161. Read  the  following  four  statement  (a  -  d)  -

(a) Biofertilisers are organisms that enrich the
nutrient  quality of the soil.

(b) The main source of biofertilisers are
bacteria, fungi and cyanobacteria.

(c) cyanobacteria are autotrophic microbes and
in paddy fields they serve as an important
biofertiliser.

(d) Cyanobacteria includes Anabaena, Nostoc
Rhizobium, Oscillatoria etc.

How many of the above statements are true -

(1) Three (2) One (3) Two (4) Four

158. fxYM gS –

(1) leku iks"kd Lrj ij feyus okys tho
(2) fHkék&fHkék iks"kd Lrjksa ds tho
(3) bdksflLVe ds mRiknd o miHkksäk
(4) bdksflLVe ds miHkksäk

159.  fuEufyf[kr dFkuksa dks if<;s rFkk muds vuqlkj lgh tksM+s
dks pqfu,s &
(A) dk iz;ksx ,sFkkukWy ds cM+s iSekus ij mRiknu ds fy, fd;k

tkrk gSaA.

(B) dk iz;ksx viektZd la:i.k rFkk /kqykbZ esa diMksa ls rsy
ds /kCcs gVkus esa fd;k tkrk gSaA

(C) dk iz;ksx jDr okfgdkvks a ls FkDdk (DykWV) gVkus
esa ;kfu ^FkDdk LQksVu* ds :i esa fd;k tkrk
gSA

(D) dk jDr&dkWfyLVªky dks de djus okys dkjd ds :i
esa iz;ksx

(1) (A) LVªSIVksdkbust (B) ;hLV
(C) ykbist (D) LVSfVu

(2) (A) ykbist (B) ;hLV
(C) LVªSIVksdkbust (D) LVSfVu

(3) (A) ;hLV (B) ykbist
(C) LVªSIVksdkbust (D) LVSfVu

(4) (A) ;hLV (B) LVªSIVksdkbust
(C) ykbist (D) LVSfVu

160. ,fYcMks ds dkj.k i`Foh lrg dk rki :-
(1) c<+ tk;sxk
(2) de gks tk;sxk
(3) vifjofrZr
(4) igys c<+sxk fQj ?kVsxk

161. fuEufyf[kr pkj dFkuksa (a - d) dks if<+, -
(a) tSo moZjd ,d izdkj ds tho gS tkss ènk dh iks"kd xq.kork

cukrs gSaA
(b) tSo moZjdksa dk eq[; L=ksr csDVhfj;k] dod ,oa lk;uks

cSfDVfj;k gSA
(c) lk;ukscSfDVfj;k Loiksf"kr lw{ethoh gS ,oa /kku ds

[ksrks  es ;g egRoiw.k Z tSo moZjd dh Hk wfedk
fuHkkrs g SaA

(d) lk;ukscSfDVfj;k esa ,ukfcuk ukWLVksd]jkbtk sch;e]
vksflysVksfj;k vkfn lfEefyr gSaA

mijksDr dFkuksa esa fdrus dFku lgh gS -

(1) rhu (2) ,d (3) nks (4) pkj

Time Management is Life Management
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162. Match the column–I with column–II and choose
correct answer :

Column–I Column–II
(Soil types) (Terminology)

(a) Saline soil (I) Halophytes
(b) Sandy soil (II) Lithophytes
(c) Rocks (III) Psamophytes
(d) Cold soil (IV) Psychrophytes

(1)  a  = II,  b  = IV,  c  = I,  d  = III
(2)  a  = I,  b  = III,  c  = II,  d  = IV
(3)  a  = IV,  b = III,  c  = I,  d  = II
(4) a = II, b = I, c = IV, d = III

163. Milk of transgenic cow 'Rosie' contains a
substance that was nutritionally more balanced
product for human babies is :
(1) a-lactalbumin

(2) b-lactalbumin

(3) g-lactalbumin

(4) d-lactalbumin
164. Chipko movement is related to :-

(1) Tehri dam project
(2) Forest conservation
(3) Ganga water project
(4) Narmada dam project

165. Toxin present in Bacillus thuringiensis does not
kill the bacterium because it is in inactive form.
What makes it active inside the insect ?

(1) the alkaline pH of the gut, which solubilises
the crystals

(2) the acid pH of the gut

(3) the neutral pH of the gut

(4) All of the above
166. Red data book is published by :–

(1) IUCN (2) ICZN
(3) ICBN (4) WWF

167. The salts concentration in sea water :-
(1) 30% to 35% (2) 40% to 45%
(3) 5% to 10% (4) 10% to 15%

168. Which of the following organisms is likely to
have more concentration of DDT in its body:–
(1) Primary producers
(2) Herbivores
(3) Carnivores
(4) Top carnivores

162. dkWye–I dk dkWye–II ls feykb;s rFkk lgh mÙkj
pqfu;s :

Column–I Column–II
(Soil types) (Terminology)

(a) yo.kh; e`nk (I) gsyksQkbV~l
(b) jsrhyh e`nk (II) fyFkksQkbV~l
(c) pêkusa (III) lseksQkbV~l
(d) B.Mh e`nk (IV) lkbØksQkbV~l

(1)  a  = II,  b  = IV,  c  = I,  d  = III
(2)  a  = I,  b  = III,  c  = II,  d  = IV
(3)  a  = IV,  b = III,  c  = I,  d  = II
(4) a = II, b = I, c = IV, d = III

163. ijthuh xk; jksth ds nw/k es dkSulk rRo gksrk gS] tks ekuo

f'k'kqvksa gsrq vR;f/kd larqfyr iks"kd gksrk gS\

(1) a-ysDV,Ycqfeu

(2) b-ysDV,Ycqfeu

(3) g-ysDV,Ycqfeu

(4) d-ysDV,Ycqfeu
164. fpidks vkUnksyu fdlls lEcfU/kr gS :-

(1) Vgjh ck¡/k ifj;kstuk
(2) ou laj{k.k
(3) xaxk unh ifj;kstuk
(4) ueZnk ck¡/k ifj;kstuk

165. thofo"k tks cSlhyl Fkwjhuft,alhl esa gksrk gS og thok.kq dks

ugha ekjrk] D;ksafd og fuf"Ø; :i esa gksrk gSA dhV ds vUnj

bls dkSu lfØ; djrk gS \

(1) vkar dk {kkjh; pH tks jokas dks ?kksy nsrk gSA

(2) vkar dk vEyh; pH

(3) vkar dk U;wVªy pH

(4) mijksDr lHkh
166. yky vk¡dM+ksa dh iqfLrdk fdlds }kjk izdkf'kr dh tkrh gS

(1) IUCN (2) ICZN
(3) ICBN (4) WWF

167. leqnzh ty esa ued dh lkUnzrk gksrh gS :-
(1) 30% ls 35% (2) 40% ls 45%
(3) 5% ls 10% (4) 10% ls 15%

168. fuEu esa ls fdl izdkj ds tho esa DDT dh lokZf/kd ek=k
ik;h tk;sxh :–
(1) izkFkfed mRiknd
(2) 'kkdkgkjh
(3) ek¡lkgkjh
(4) mPp ek¡lkgkjh
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169. Green muffler is planting of tree to reduce noise
pollution, it is done :-
(1) On waste lands
(2) Along roads
(3) Along canals
(4)  On  the  slopes  of  hill

170. Which is not a part of ex situ conservation:-
(1) Gene bank
(2) Botanical garden
(3)Tissue culture
(4) Wild life sanctuaries

171. Ecological efficiency is, percentage of energy:-
(1) Which transferred from sun to plants
(2) Which transferred from plants to animals
(3) Which is assimilated in consumer
(4) Which is assimilated in producer

172. The large number of species become extinct
because of catastrophes is called :-
(1)Natural extinction
(2) Mass extinction
(3)Anthropogenic extinction
(4) None of above

173. Mild grazing in grassland by herbivores :-
(1) Retards growth of grasses
(2) Arrests growth of grasses
(3) Stimulates growth of grasses
(4) Destroys vegetation

174. Which zone of lake has minimum species
diversity
(1) Littoral zone
(2) Limnetic zone
(3) Profundal zone
(4) All of above

175. Biological equilibrium is an equilibrium
amongst:
(1) Producers and decomposers
(2) Producers and consumers
(3) Producers, consumers and decomposers
(4) Consumers and decomposers

176. The correct sequence of process taking place
during plant succession is :

(1) Climax®Competition®Invasion®Nudation

(2) Competition®Invasion®Nudation® Climax

(3) Invasion®Nudation®Climax®Competition

(4) Nudation®Invasion®Competition®Climax

169. xzhu eQyj vFkkZr /ouh iznq"k.k dks de djus ds fy, o`{kksa
dks yxkuk gS] tks fd;k tkrk gS %&
(1) O;FkZ {ks=ksa ij
(2) lM+d ds lkFk&lkFk
(3) ugjksa ds lkFk&lkFk
(4) ioZrksa dh <ykuksa ij

170. dkSulk ckg~; LFkkus laj{k.k dk Hkkx ugha gS :-
(1) thu cSad
(2) okufLifrd m|ku
(3)mÙkd lao/kZu
(4) oU; tho vH;kj.;

171. ikfjLFkfrdh n{krk gksrh gS] mtkZ dh izfr'kr ek=k
(1) tks lw;Z ls ikniksa dks LFkkukUrfjr gksxhA
(2) tks ikniksa ls tUrqvksa dks LFkkukUrfjr gksxhA
(3) tks miHkksäk esa LokaxhÏr gksrh gSA
(4) tks mRiknd esa Lokaxhd`r gksrh gSA

172. tkfr;ksa dh cM+h la[;k çkÏfrd foinkvksa ds dkj.k foyqIr
gks xbZ gSA bls dgsaxs :-
(1)uSlfxZd foyksiu
(2) lewg foyksiu
(3)ekukoksn~Hkoh foyksiu
(4) mijksä dksbZ ugha

173. 'kkdkgkjh;ksa }kjk ?kkWl LFky esa de pkj.k ls %&
(1) ?kk¡lks dh o`f¼ vo:¼ gksrh gSA
(2) ?kk¡lksa dh o`f¼ iw.kZr% :d tkrh gSA
(3) ?kk¡lksa dh o`f¼ c<+ tkrh gSA
(4) ouLifr u"V gks tkrh gSA

174. >hyksa ds fdl {ks= esa tkrh; fofHkékrk lcls de gksxh –

(1) fyVksjy {ks= esa

(2) fyEusfVd {ks= esa

(3) çksQUMy {ks= esa

(4) mijksä lHkh esa

175. tSfod lkE;rk fdlds chp dh lkE;rk gS %&

(1) mRiknd vkSj vi?kVudkjh

(2) mRiknd vkSj miHkksDrk

(3) mRiknd] miHkksDrk] vkSj vi?kVudkjh

(4) miHkksDrk vkSj vi?kVudkjh

176. ikni vuqØe.k ds nkSjku gksus okyh fØ;kvksa dk lgh Øe

gS %&

(1) pje voLFkk ® izfrLi/kkZ ® laØke.k ® vukPNknu

(2) izfrLi/kkZ ® laØke.k ® vukPNknu ® pje voLFkk

(3) laØke.k ® vukPNknu ® pje voLFkk ®izfrLièkkZ

(4) vukPNknu ® laØke.k ® izfrLi/kkZ ® pje voLFkk
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177. Match the Column-I to Column-II :

Column-I Column-II

(A) Tropical rain forest (a) Shorea
robusta

(B) Tropical deciduous (b) Quercus
forest

(C) Temperate broad (c) Cedrus
leaf forest

(D) Temperate coniferous (d) Hopea
forest

(1)  A = d B = a C = b D =  c
(2)  A = a B = b C = c D =  d
(3)  A = b B = c C = a D =  d
(4)  A = a B = c C = d D =  b

178. Steppes ecosystem is a type of :
(1) Aquatic ecosystem
(2) Forest ecosystem
(3) Grassland ecosystem
(4) Desert ecosystem

179. Dunaliella species found in hyper saline lake
can tolerate saline conditions by accumulating:-
(1) Glycerol in the cells
(2) Proline in the cells
(3) Chaperonins in the cells
(4) All the above

180. The functioning of an ecosystem is governed by:-
(1) The interactions of plants and animals
(2) Small population size
(3) The climatic and edaphic factor
(4) The interaction of decomposers and biota

177. dkWye-I dks dkWye-II dks feykb;s :

dkWye-I dkWye-II

(A) m".k dfVca/kh; o"kkZ (a) 'kksjsvk jkscqLVk
izpwj ou

(B) m".k dfVca/kh; (b) D;wjll
i.kZikrh ou

(C) 'khrks".k pkSM+h iÙkh (c) lsMªl
okys ou

(D) 'khrks".k 'kadq/kkjh ou (d) gksfivk

(1)  A = d B = a C = b D =  c
(2)  A = a B = b C = c D =  d
(3)  A = b B = c C = a D =  d
(4)  A = a B = c C = d D =  b

178. LVsiht ikfjfLFkfrdh ra= ,d izdkj gS %&
(1) tyh; ikfjfLFkfrdh ra=
(2) ou ikfjfLFkfrdh ra=
(3) ?kkl LFky ikfjfLFkfrdh ra=
(4) e:LFky ikfjfLFkfrdh ra=

179. MwusySyk tkfr mPp yo.kh;rk okyh >hy esa ik;h tkrh gS]
tks mPp yof.k;rk dks lgu dj ldrh gS %&
(1) dksf'kdkvksa esa fXyljksy ,df=r djds
(2) dksf'kdkvksa esa izksyhu ,df=r djds
(3) dksf'kdkvksa esa dsijksfuUl ,df=r djds
(4) mijksDr lHkh

180. ikfjfLFkfrdh ra= dh fØ;k izHkkfor gksrh gS %&
(1) ikS/kksa vkSj tkuojksa ds chp ikjLifjd fØ;k }kjk
(2) NksVk lef"V vkeki
(3) tyok;q o e`nk lEcfU/k dkjd }kjk
(4) vi?kVd vkSj tSo leqnk; ds chp ikjLifjd fØ;k }kjk
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